SINDHI HIGH SCHOOL, BANGALORE
ANNUAL EXAMINATION (2023-24)
Subject: English

CLASS: VI Reading Time: 8.00-8:15 am
Date: 21-03-2024 Writing Time: 8.15-10.45 am

Max. Marks: 80
No. of Printed Sides: 10 s
General Instructions
his paper contains three sections:
Section A- Reading-20
Section B-Writing& Grammar- 20
Section C- Literature - 40
Al sections are compulsory

Section A: Reading ( 20 Marks)

1 Read the given passage and answer the questions that follow: (1x10=10M)

It is not easy to give any fixed definition of literature. But it may be suggested
that any writing of fictional or non-fictional nature that deals with human life
and has the power to engage the interest of all kinds of human beings can be
called literature.

Generally, books meant for specific subjects like chemistry, geography, political
science or astronomy cannot be called literature because they do not have any
universal appeal. But a novel by Tolstoi or Bibhutibhusan, a poem by Tagore or
an essay by Lamb is certainly a work of literature because it can arouse feelings
that are universal.

Literature can take many forms. It can be an epic like the Mahabharata, a novel
like Pather Panchali, a poem like the ones in Rabindranath’s Geetanjali or a
short story like O, Henry’s Gift of the Magi. The study of literature is both
pleasurable and profitable, provided one reads selectively.

Literature helps us pass time pleasurably with its good story, interesting
characters and pictures of various places and cultures past and present. From
great literary works, we can gain profound insight into human nature as well as

vital truths about different aspects of life.

It is a pity that the habit of reading literature is on the decline among today’s
youth. They spend more time watching TV and films than reading the classics
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1)What is the definition of literature according to the provided passage?
A) Any writing that deals with human lifc and has universal appeal

B) Books meant for specific subjects like chemistry or geography

C) Films and TV shows

D) A successful career

ii)Which of the following is not considered to be literature?

A) A novel by Tolstoy

B) A book on political science

C) A poem by Tagore

D) A film version of Hamlet

iii)According to the passage, what is the benefit of studying literature?
A) Knowing different aspects of life

B) Passing time pleasurably

C) Gaining insight into human nature

D) All of the above

iv)How does the passage suggest that young people spend their time?
A) Reading literature

B) Watching TV and films

C) Building a successful career
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V) Why is the film version of a literary classic not as effective as the book
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Vi) Who s an example of 2 Iiterasy classic author montioned in the passage’
AYO. Henry

) Shakespeare

C) Ratwndranath Tagoec

D) 1K Rowling |
1X)What 15 the purpose of literature acconding to the passage

A) To build a swccessful carcer

B) To pass time pleasurably

C) To gain msaght mnio human naiure

D) All of the above
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3. The Hinalavas, ofien referred (o as the “Rool of the World,” streteh e
five countries: lndia, Nepal, Bhutan, Ching, and Pakistan. This vast mOL'II'llaln
tange is home o diverse ecosystems, from dense forests at lower elevations (0
alpine meadows and snow-covered peaks at higher altitudes.

4 The Ganges River, one of the major rivers in the world, originates in the

Himalayas. 1t flows through the Indian subcontinent, providing water to
millions of people and supporting rich agricultural lands along its course.

3. Bevond its geographical significance, the Himalayas are culturally and

spiritually significant for the people living in the region. They are home to
numerous ancient monasteries, temples, and traditions that have been passed
down through generations.

A) Choose the appropriate option from the following: (1x5=5)
l. Where ts Mount Everest located?
a) Rocky Mountains
b) Himalayan mountain range

¢) Andes Mountains

d) Alps
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¢) Himalayan base camp

) Rocky Mountains base camp

Ao Whieh viver origanates i the Himalayas?

a) Nile

b) Amazon

¢) Ganges

d) Mississippi

S. How many countries does the Himalayan mountain range streteh across”
a) Two

b) Three

¢) Four

d) Five
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Scetion B: Writing and Grammar (30 Marks)

UL Choose the correet option from the following: (Ix3=3m)
L

Uhe children said, *We are playing in the garden.™
a)

the childven said that they had been playing in the garden.”
the children said that they ave playing in the garden.

the children said they were playing in the garden.

the children said that we are playing in the garden.

= The teacher said, “Write neatly.”
a) Ihe teacher
b) The teacher
¢) The teacher
d) The teacher

nstructed the children to write neatly,
exclaimed angrily that the childeen should write neatly.
requested the children to write neatly,

said to the children write neatly,

3. Ram said, “Mount Bverest is the highest peak in the world.”
) Ram said that Mount Bverest is the highest peak in the world.

b) Ram said that Mount Everest was the highest peak in the world.
¢) Ram said that Mount Everest had been the highest peak in the world.
d) Ram exclaimed that Mount Bverest is the highest peak in the world,

Do as directed: (IX7=7m)

L. Identity the ervor in the given sentence and choose the correct option:
Dawn’s favorite activity is deaw sketehes of her tamily.

reor | Correction

.
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b | Correction T
_a) sketches sketch ]
L) Llld_\’y_______m_____” drawing B o |
¢) ) aclivity  Jactivities
(.]) of Lo
2. Bread and Butter ___my favourite breakfast.
a) is b) am c) arc d) was
3. When we get ready for dinner, 1 have to get my books the table.
a) of b) of ¢)on d) by
4. He wanted to improve his piano playing he wanted to win
the competition.
a) so b) but ¢) because d) therefore
5. One of my dogs old.
a) Is b) were c) arc d) have been
6. The moon (go) round the carth.
a) had gone  b)going  ¢) went d) goes
7. The bird has ___away.
a) fliecs b) flown  ¢) flew d) Nlying

IV Write a letter to the Principal of the school requesting a transfer certificate as
your father has been transferred to a foreign country and you will go there with
your family. (Sm)

V The other day, you went with your family to a Russian circus famous for i1s
extraordinary circus shows. Though you wanted to enjoy, you were hig i.aj«
disturbed by the cruel methods and dangerous ways in which the animals
perform. Write an article highlighting the cruelty to animals in a circus. (Sm;



Section C: Literature(40 M)

V] Read the following extract and answer the following: ( _1X4=4m)

1) He sent for the young woodcutter, and rewarded him with twenty Pieceg
of gold for having been so good and kind.

i)  This extract is taken from the lesson:
a) Taro’sreward b) The Shepherd’s treasure

¢) Tansen d) Fair Play \
ii)  Who sent for the woodcutter?
a)  Taro
b)  Taro’s father
¢c)  The King of China
d)  The Emperor of Japan '
i)  The meaning of ‘sent’ with reference to the above passage is:
a) dispatched
b) deliver
¢) to call someone
d) communicate
iv)  To whom was the young woodcutter kind?

VII Read the following extract and answer the following:  (1x4=4m)
When at four in the afternoon I come back from

the school,

I can see through the gate of that house the
gardener digging the ground.

He does what he likes with his spade, he soils
his clothes with dust, nobody takes him to
task, if he gets baked in the sun or gets wet.
I'wish I were a gardener digging away at the

garden with nobody to stop me from digging.

1)  The is the speaker in the poem.
a) Rabindranath Tagore  b)a schoolboy
b) the hawker d) the watchman



i) The gardener works in the garden at

a) 3 pm b) 4 am ¢)3am d) 10.30 pm
111)  The synonym for ‘baked’ as meant in the above stanza is:
a) cooked b) roast ¢) boil d) tanned

V) Why does the speaker want to become a gardener?

VII Answer the following in 20-30 words: (any 5) (2x5=10m)

1) Why was the narrator upset initially when he looked out of the window"
(A difTerent kind of s
2) How did Jumman and Algu’s friendship turn into enmity? (Fairpiay)
3) Why do you think, the child wants to become a hawker, a gardener or
watchman? How is his life different from theirs? — (vocation)
4) Why did the monkey ask the crocodile to return to the tree? (The monkey and
the crocodile)

5) How was the specialist’s prescription to Saceda’s mother different from

the other doctors? {A pact with sun)

6) How do we know that King Akbar appreciated Tansen? (Tansen)

IX Answer the following in 40-50 words (any 3) (4x3=12m)

I. How was Miss Beam's school different from the others? Would you like
to study in such a school? Why? { A different kind of &!

2. "It was to be a battle of champions.” Describe the fight between the
mongoose and the cobra. The banyan tres

3. How did the friendship between the monkey and the crocodile come to an
end? (The monkey and the crocodile

4. How did Tansen silence his enemies? (Tansen)

X Answer the following in 100-120 words: (2x5=10m)

I) The myna dropped cautiously to the ground, hopped about, peered into
the bushes from a safe distance, and then, with a shrill cry of
congratulation, flew away.,

Imagine you are the myna and write a diary entry expressing your feclings at

th L‘ﬂd Of thc ﬁght (The barivan tree

Or

Imagine that you are the old aunt after she won the case against Jumman. Write
a diary entry expressing your feelings.



2. Why were the shepherd’s enemics embarrassed? What were the values o,
learnt from the lesson *The shepherd's treasurc’ and how will you inculcate
them in vour life” Thu gt ¢ e,

Or
Do you think Saceds took a wise decision by making a pact with the sunrays”

What did you leam from the lesson *A pact with the S (4 o weidh B s
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GENERAL INSTRUCTIONN:

W g, /

Gy BINDIEHIGH SCHOOL, BENGALURY
Ii ANNUAL XAMINATION (20273 24
W BUBIECT HANSK L
Name ;
Roll No:
Clann/Sec: VI Max, Murks: 30
Date: 30.3,2024 Reading time: 15 mins

No. of siden: 4 Writing Time: ) hr

L —— I —— S -

o Write your Name, Roll number, Section in the answer script,
e Read all the Questions carefully,
o Answer all the Questions and write neatly,

o ruE i Aty araayrany
USRI ey Ay
- l'~]'l f AR | £ An r'rg:q

o Uy v i araarray

quy o w — AEATAATAY

I. Read the passaqge and answer the questions given below.

g afzen warary et fae

s AT At | arE: ferter gt o e A ATy | AR §AA
qafa sy arfeA | = arns sy qeata a2 fatg we afea g s e A
g il

FTE: TUATAH A4 | 7 TFATATIA F R | T T AT T2
qraaf | we T anresta | e wee frat, e agata

A. TTTW TH979 | Answer 1n one word. w X 4 = 2
v . w; Frorfara: w3
L ATE: TH A
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2, q A HRTA ?
¥, Fi7F: g —

B. QUIATRA IULT | Answer in complete

7. T EHATRIA 2

sentence.

. B TOH HETTHH ?

C. TYIAZY ITTT | Do as Directed

2 " ‘f_fﬂ-:ﬁ.. ) \quafrl q_:“l“ﬁ‘ '

1X2=2
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1. Observe the picture and make 3 sentences with words

given in the helpbox, '|""\{‘fil[ ANCAT TsaNTAT arfy IV 3 AT
CHIAT | 1 X3=23

( W, wlRe W)
I oy i)

2 IR

3.t Tl |

WU MM~ STWARh TR
I1r. 39 wfud: Reer@r @@ | Fill in the correct noun

forms e X 6 = 3

rergm fefa (A / aEr /oA )

Ay wed: | (T / TAr /T )

o
.

3. g FRf | (AW / A/ AT )
4. . gEw fawafeq | (g /TS / edTer )
5. gy el ( FEw o/ B/ e

6. . g TE@ | ( AR/ AiRe /. LIECI
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SR frarad: RepeamTfy @@ | Fill in the correct
. “ X 6 = 3

present tense forms.

( gla\l f'r @I-tléi ,-f @1‘.‘!:—"? ]

1. 9797 AR

(T / FEA / TEE )

Z-Wﬂ'WaF{EW#

sraty /  aTaa:

3 AT - ( ygTateT /

" PR R (T / T /T )
5.9 FATSTY
o (wewfy / v/ v )

6.7 AT
{ _ ( TR/ TEA: / AZA

" 0y | “w X 6 =3

Write the singular, dual or plural as required

N
I
|
]
|
|
|
|
|
|
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vIII. Read the passa
e
below. ge and answer the questions given

TR TS A S e |
TSI ST [ oRa | qe ST LT
FTXREH | SFSores el
T | SFOE T AR | A U F AR 20 e | Afgrer ager: F

t
GIIRYST FHATYIEE: A hehUEahT: goAT: i1 reafw '

. . . T fregfea w7 | it AT
mamz rareiiof: | arfY = sftgpoor: T HETw: STETLET: = ATed
| o 99 T qHAR STEH: |
Aff ST GO ST Fooraer srget Afgofimert o | SERE RINERIR

STTTR STT: e o7 sftgroursreeererd ar=f=d |

A. 'Qﬁﬁ'q%?f I9<d | Answer in one word. wX2=1
g. sftepoored AT AT 2
3. oy SH: F: 2

2 X 2=

B. gvfa'laiﬁr 3T | Answer in complete sentence.
9. AT F AT dredfed T2
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SINDHI HIGH SCHOOL , BENGALURU -01
ANNUAL EXAMINATION (2023-24)
SUBJECT : MATHEMATICS
Class : 6 Date : 19/3/24
No.of printed sides : 5 Marks : 80

GENERAL INSTRUCTIONS

* Write your name, roll number, class and section, date and subject
clearly in youranswer script.

1. This Question Paper has 5 Sections A-E.

2. Section A has 20 MCQs carrying 1 mark each

3. Section B has 5 questions carrying 02 marks each.

4. Section C has 6 questions carrying 03 marks each.

5. Section D has 4 questions carrying of 05 marks.

6. Section E has 3 case based integrated units of assessment

(04 marks)with subpartsof the values of 1, 2 and 1marks each
respectively.

All Questions are compulsory.

SECTION-A (1x20=20)
Choose the correct alternative :
I) The value of 200+ 6 + 3/10+ 50+ 7/10004s
a) 236.07 b) 256.307 c¢) 265.370 d) 263.307
2) The measure of three right angles s equaltoa _ angle.
a) right b)complete ¢) straight d) reflex
3) The ratio 300:450 in its simplest formis
a) 3/5 b) 2/3 c) 3/4 d) 5/6
4) 7089 misexpressedas  km.
a) 70.89 b) 7.089 ¢) 708.9 d) 78.09
5) The measure of an angle is expressed in
a) centimetres b) degrees ¢) points d) numbers

- 4

6) The number of matchsticks required for pattern = = &
a) § b2 ¢)3 d) 6

7y lines can pass through two given points.
a) 7 b4 oinfinite )

8) The length and wadth of a tape are 2m and 28cm . Their ratioss
a) 100:14  b) 7:50 ¢) 50:70 d) 1:8




9y The decimal torm ol Thiee hundred three and three-hundredth s
g) 1003 byl ¢) 300,03 d) 303.03

i o collection of numbers gathered to give some

1)
Hornbion
a) data by prctograph

L1y The expression tor 24 added to ‘mhs
a) D ) m- 2 ¢) 244m

1 2) Number of pomnts ina ine are :
n) one by infinite C) two d) zero

13) Which of the following is the place value of 510 6. 3457

a) S/10 b)) S/1000 ¢) s d) 5/100
L4) The arca o a square 1s 81sq.m . Its side s _
a) 8m - b)Ym ¢) 10sq.m d) 19 sq m

9

15) Which of the following 1s in ]n‘npurtmn !
a) 3,27.99  b) S, 11,1544 y3.5.15.25 d)4,3,36,18
[6) A of a circle s a line \L},IIILIH joining any (wo points on the

cirele and passig through the centre,
a) chord b) diameter

[7) The sum ol 4.02 and 4.0061s .

) 8.026 b)800.26 ¢) 802.6 d) 802.06

[8) A triangle with sides 4cm |, 4.8cm and 6cm s calleda
b) right ¢) scalene d) 1sosceles

¢) bar graph d) tally marks

d) 2m+4

¢) circumference d) radius

a) equilateral
|9) Assartion (A) - Perimeter of a rectangle =2 x (Length x Breadth).
Reason (R) - Perimeter Is the distance covered along the boundary forming a
closed figure when you go round the figure once
a) Both A and R are true and R is the correct explanation of A
b) Both A and R are true but R is not the correct explanation of A
c) Ais true but R is false
d) A is false but R is true
20)) Assertion (A) - The expression for ‘1" subtracted from p' is p-1.
Reason (R) - any equation like the above, is a condition on a variable. It is
satisfied only for a definite value of the variable.
a) Both A and R are true and R is the correct explanation of A
b) Both A and R are true but R is not the correct explanation of A

c) A is true but R 1s false
d) A 1s false but R is true

SECTION-B (2X5=10)
21) Draw a rough sketch of an obtuse angle and mark its vertices
22) Write the decimal 0.68 as a fraction and reduce it to the lowest form

tnangle.

ff:“; \
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SO TOW el dysy

ance will you have (o travel in Loing
Collowing ey )

around cach of the

e

i 13 cm

12 em b
() (1)
S Wiite o mathematical statement for the
D Divide Rs 90 in the ratio |
does cach pet v

given algebraic expression 7n + S
2 between Anil and Sunil. How much share

SECTION-C (3X6=18)
"o Fotal number of animals in five villages are as follows:

! Village A RO

| Village 13120

' Village ¢ 100

| Village D+ 40

Village 1 60

I Prepare a pictograph of these animals using the symbol O to represent
|

20 animals

21 What are the degree measures of the following angles?
I () Right angle

(D) A complete angle

(¢) Straight angle

? 28) Find the value of the following:
i (@) 150 —9.365
(b) 5.28 3.4 + 4.69

29) A rectangular park is 26 metres long and 14 metres broad. A steel wire
fence is put up all around it. Find the cost of putting the fence at the rate of 218
per metre, ‘ ‘

30) 1 35 meters of cloth costs T 1050, What will be the cost of 13 meters of the
same cloth? | o | o
31) Write the following using numbers , literals and signs of basic operations
a) One-third of the sum of numbers a and b

b) 6 times d taken away from k

- e
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SECTION-D (5x4=20) 5 :
32) a) Gopal drove 89.005 km on Saturday and 72.6 km on Sunday. How map,,

kilometres did he drive on both tg; c;ay.s ? -

r subtracted from 29.5 gives 7.26 N
g%)v‘[(}il;tont?trg?en persons working in an office , 28 are men and remaining are
women. Find the ratio of number of
a) men to that of women
b) men to total number of persons
¢) persons to that of women
(ii) Are the numbers 5, 6, 20,18 in proportion ? .

34) a) Ronil runs around a square field of side 65m , Sahil runs around a
rectangular field with length 185m and breadth 120m. Who covers more
distance and by how much ?
b) Which has larger perimeter ?

a regular hexagon of side 4cm or a regular pentagon of side 6cm
35)a) Solve the equation and find the value of “ a *

8a =24 |

b) List the terms in the expression |
ISm+7y-6 I
SECTION - E (3x4=12)

Section E consists of 3 case study based questions
36) In the figure shown below , find the following :

|

a) the ratio of the shaded part to the unshaded part
b) Ratio of unshaded parts to total parts
¢) (i) Ratio of total parts to shaded part

(ii)Write the antecedent and consequent in (i)

37) A car travels 228 km in 3 hours. =
a) What is the distance covered by the car in one hour ?
b) How far will it travel in 7 hours?
c) How long will it take to travel 912 km?
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SINDHI HIGH SCHOOL, BENGALURU.
ANNUAL EXAMINATION (2023-24)
SUBJECT: SCIENCE

PR QARKALE% LM 10 LITRT

MAX MARKS: 80
WRITING TIME: 2 HOURS 30MINS
READING TIME: 15 MINS

CLASS: VI
DATE: 23/3/2024
NO OF PRINTED SIDES: 10

GENERAL INSTRUCTIONS:
i. This question paper Consists of 39 questions in 5

sections.

ii. All questions are compulsory.

5ii. Section A consists of 20 objective-type questions carrying 1 mark each.

iv. Section B consists of 6 Very Short questions carrying 02 marks each. Answers to these

questions should be in the range of 30 to 50 words.

v. Section C consists of 7 Short Answer type questions ca
to these questions should be in the range of 50 to 80 words.

n D consists of 3 Long Answer type questions carrying 05
e in the range of 80 to 120 words.

-based assessment units of 04 mark

rrying 03 marks gach. Answers

vi. Sectio marks each. Answers
to these questions should b
s each

vii. Section E consists of 3 source-based/case
with sub-parts.

e———— )
MARKS

QUESTIONS

NO.

SECTION A

Select and write the most appropriate option out of the four

iven for each of the questions 1 - 20.

1 | Ramesh forgot his transparent plastic water bottle in school on a
hot sunny day. Some water was remaining in his bottle. Next day
when he came to school he saw water droplets on the inner upper

surface of the bottle. What could be the possible reason for the

same?
a) Evaporation and condensation

options g




b) Lvapomnon and churning

c) Condensation and filtration

d) Condensation and sedimentation
.o of sievingis___————

2

|
|
|
|

u

3

lr______
|
|
| The property which forms the basi

a) Difference in weight
b) Difference in colour
c) Difference in shape

d) Difference in size
RS

What is the atomic number of Carbon

a) 7
b) 4
c) 6

d) 8

The process that is done after harvesting is

a) Handpicking
b) Threshing

¢) Reaping

} d) Cutting

[ 5

Which of the following statement is correct?

a) A mixture of milk and water can be separated by filtration.
b) Grain and husk can be separated with the process of dlStlHBIlOI’l
¢) Separation of sugar from tea can be done with filtration
d) We can separate fruits mixed together by hand picking.

6

“Ag” is the symbol of which element

a) Aluminium
b) COpper
¢) Gold




a) Unsaturated

b) Saturated

¢) Supersaturated
d) None of these

Which of the given food items are “energy giving food”?

(1) Wheat
(11)Ghee
(1i1)Iodised salt
(iv)Spinach

a) (i)and (iv)

b) (ii) and(iv)

c) (1) and (i)

d) (ii1) and (iv) |

Rani was having difficulty seeing things in dim light. Doctor

tested her eyes and prescribed a particular nutrient supplement.
The nutrient prescribed is

a) Anaemia
b) Mineral

¢) Vitamin A
d) Starch

10

Name the nutrient that our body prepares in the presence of
sunlight.

a) Dietary fibres
b) Meat

¢) Vitamin D

d) Copper sulphate

11

Raju’s excess intake of food like Samosa, malai, rabdi, peda may
end up suffering from a condition called

a) Skin disorder

b) weight reduction
¢) Joint pain

d) Obesity
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i) Reproduction

h) Reapiration

|C) Breathing
L) Bxeretion

Note: In the following questions 17 to 20, a statement of
Assertion is followed by a statement of Reasoning. Choose the

correct answer from the following options.
(a) Both assertion and reason are correct statements, and

1 reason is the correct explanation for assertion.
} (b) Both assertion and reason are correct statements but
“reason is not the correct explanation for assertion.

* (¢) Assertion is correct, but reason is the wrong statement.
(d) Assertion is mon;,, but reason is the correct statement.

¢ - — - _—

17 /\axumnn - I l mdpnknn luhnngm is used for separation of

(T

larger sized impurities like pieces of stone from wheat/nce

F : | : .
Reason — It is a convenient method of separation.

18 | Assertion- An aquatic animal L.H g a strecamlined and shipper

body.
RCE!SOH The aquam dmm.'!\ don

't 1
f 7y ! §
[ Nave ICRS

19 /\ssu’tlon- \hlk is a complete !
Reason- [t is a good source of s :‘;..a.c..di-n B.

Fae Ivaly
K ",.‘ :‘it"‘h“rg’

20 | Assertion (A): A fused bulb does not glow.
Reason (R): The circuit in a fused bulb 1s incomplete due to

| breaking of filament.

Section B

| a) Idmm\ the separation technique shown in the above picture.

—
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a) Identify the nutrient present in t

he above ima
-~ eand t
deficiency disease caused by it. g -

b) L.lst the symptoms seen due to the deficiency of the above
nutrient.

Section C

27

Draw a neat labelled diagram of the structure of an atom.

28

Name and draw the process by which tea leaves are separated
from prepared tea.

29

Give reasons

a) Roughage is an important component of a balanced diet.

b) Rashmi is mentally challenged child and there is little swelling
on his neck.

¢) Vitamins and minerals are known as protective food.

. B
2) How do magnets lose their p19pert1es.
b)) Mention any two ways by which magnets can be stored

properly.

#L/_,/'f// |

L2
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31 1 a
Fan' »
A
2 - |
N |
N S 5 .
B i
. ' ught nearto |
a) What happens when car no.2 and car no. 418 broug |
cach other? Give reason for your answer. |I‘
. , o 1i
b) A long magnet 1 broken into 10 preces. How many north :
poles will be there in !
i)10 pieces  1i)one piece M_L_ﬂ,ﬂ_
32 | a) Define switch. | 3
b) Differentiate between conductors and insulators.
33 |a) Whatis acclimatisation? 3
b) Differentiate between biotic and abiotic components.
Section D
34 a) Differentiate between an atom and a molecule. 5
b) Write the symbols of the given clement:
i Gold ii. Beryllium iit. Sulphur
¢) Write the names of the elements for the given symbols:
ig i.B ii.Li i Si
[ s - - —— S—— -
35 | Tashvi visited Bannerghatta National Park. She enjoyed | 5
d few questions in her mind.

A

| watching all the animals but ha
'a) Why
'b) In Lion, the eyes are in front 0
'¢) Why do lons need to camouflage?

' d) How do deer’s escape from the enemies?

is lion is called a predator and deer a prey”?
f the face. Give reason.

B e



a) In which direction does a freely suspended magnet rest?

b) Name the property of the magnet depicted in the above picture.
c) Which method is a sure test for magnetism?

d) Draw a neat labelled diagram of a magnetic compass. .

Section E

51

You are asked to add two spoons of solid salt and some sand to
liquid taken in a beaker. On stirring it you find that whole of the
salt has disappeared leaving behind sand in liquid in the beaker.

a) The liquid left after dissolving of salt in beaker is
(a) water

(b) solution

(c) solute

(d) solvent

b) Which of the following processes will be useful to get sand

from this solution?

(a) Condensation

(b) Evaporation

(c) sublimation

(d) Sedimentation and decantation

¢) Which process can you use to get salt from the above mixture?




{ \» SINDHI HIGH SCHOOL, BENGALURU
\QJ ANNUAL EXAMINATION [2023-24)
= SUBJECT: SOCIAL SCIENCE

Tass: V
( lm VI Max Marks: 80
Date: %6 .3.2024 Reading Time: 15 mins
No of Sides: 4 Writing Time: 2hrs 45 mins

GENERAL INSTRUCTIONS:
1. Question paper comprises Six Sections - A, B, C, D, E and IF There are 37 questions in the
question paper. All questions are compulsory.
il. Section A - From question 1 to 20 are MCQs of | mark each.
iii. Section B-Question no 21 to 24 are Very Short Answer Type Questions, carrying 2 marks
each. Answer to each question should not exceed 40 words.
iv. Section C contains Q 25 to Q 29 are Short Answer Type Questions, carrying 3 marks each.
Answer to each question should not exceed 60 words.
v. Section D-Question no. 30 to 33 are long answer type questions carrying S marks each. Answer
to each question should not exceed 120 words.
vi. Section-E- Questions no from 34 to 36 are case based questions with three sub questions and
are of 4 marks each.
vil. Section F-Question no. 37 is map based, carrying 5 marks with two parts, 37a. from History
(2 marks) and 37b. from Geography (3 marks).
viil. There is no overall choice in the question paper. However, an internal choice has been
provided in few questions, only one of the choices in such questions have to be attempted.
ix. In addition to this, separate instructions are given with each section and question,
wherever necessary.

+

*

SECTION -A ' 1x20=20

Choose the best option:

1. Vardhamana Mahavira was the __tirthankara. (1)
() 21% -+ (b)23r (c) 24 (d) 22

2 Which of the following is not the identity of the Patwari? : (1)
(a) Lekhpal  (b) Karamchari (c) Kanungo (d) Land owner

3. A scale is necessary for . (1)
(a) symbols (b) a sketch (c) a map (d) a circle ‘

4. | Banabhatta was a at the court of Harshavardhana. (1)
(a) poet. (b) writer (¢) judge (d) pandit

5. | Yasmin Khala was a retired person from the . (1)
(a) Mahanagara Palika (b) Municipal Corporation
(c) Gram Panchayat (d) Zilla Panchayat

6. | The blue colour on the map is used for showing . (1)
(a) Water bodies  (b) Forest (c) Hills (d) Desert

7. | Ashoka was the son of ; _ (D
(a) Chandragupta (b) Bindusara (c) Chandragupta II (d) None of these

8. | Most of businessmen are , (1)
(a) self-employed  (b) employed by others (c) both (a) and (b) (d) none of these

Page-1
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The Arctic Ocean is connected with the Pacific Ocean by a narrow stretch of shyyy,,

0
f waler known as the
(¢) Malacca Strait__(d) Davis Strait

&
Fage - 2

| | (a) Berring st strait. (h)l’all\ Su 1l
, 0. _were found by Archacologists at Burz: thom in present-day Kashmir I
II (a)Thatched huts () I’n houses lc,l stilt house  (d) wooden house ()
| 11. | Under mumcq;a-l_r{—v_a ut\ is divided mln | I
(a) Wards (b) Section (¢ ) Councils (d) Parts e
l, 12, Thé'r;c;&ETn—;:tﬁg{hal sepdrmeis -[:LIl:U['\L‘ from Asiais_ (1)
| (a) the Andes  (b) the Himalayas (¢) the Ural (d) the Rocky
|
_' 3. I Assertion (A): Hawking zones have thn ‘sut'l..ult‘d fur towns .uml ciies (1)
|
| i] Reasons (R): Due to constant transport and more population.
f (a) Both A and R are true and R is the correct explanation of A
i f
( |
f Il' (b) Both A and R are true but R is not the correct explanation of A
| |
r ." (c) Ais true but R is false
| :
j ' (d) A is false but R is true
I ld’.—_i-\'\’hu,h of the S T it — - d
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." 35 4‘ “Q'f‘."_ 25t0 2% are s short answer swer questions. |
2 | What led 10 the movement of Hunte W —— e 318=14
126, | (a) Why dic crers from place to place Gy
. y did Bac hchu Manjhi come to the ciny? — 09
- (h Explain his livelihood. (142=3)
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Identify the picture

and explain its importance,

_Expluingl_ic three divisions of Himalayas.

SECTION-D

Q.no. 30 to 33 are long answer questions 7

(3)

5x4=20 |

With reference to the U
(a) What is the meanin
(b) Slaves were also al

OR

30. | Explain the teachings of Buddhism.

panishad answer the following:
g of Upanishad? Name two women Upanishadic thinkers.

lowed to learn Upanishad. Justify.

()

(2+3=5)

(a) Who was the court poet of Samudragupta?
(b) Examine the policy of Samudragupta towards different kinds of rulers.

How is the Prashasti o

f Samudragupta different from Pulakeshin I1?

OR

(5)

(1+4=5)

N

/ Explain the work and responsibilities of a Patwari.

OR

What is the work of the tehsildars?

(3)

Describe the features of Africa.

Which is the largest continent in the world? Explain its features

OR

)

(1+4=5)

SECTION - E

/ Q. 34 to 36 are Case - Based questions

4x3=12

To the south of northern plains lies the Peninsular plateau. The relief is highly
uneven. This is a region with numerous hill ranges and valleys. The Vindhyas and
the Satpuras are the important ranges. Some rivers flow through these ranges.

1.Which is the oldest range of the world?

2. Name a river that flows towards west and drain into the Arabian Sea.

3. Why is it called the Peninsular Plateau.? Explain

N —

35

The women were very unhappy about the situation in the city. Then it was
Gangabai who said the Ward Councillor who they should go to and protest since
they were the ones who elected him. She gathered a small group of women went to

his house.

1.What was Gangabai protesting about?
2.Whom did she approach?
3.What was his response?




16 Ashoka was the mest famsosse Masosan rubey He was the forst roher whe e W
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Chistory of the wordd wiv geve up conupucst aficr winiing & s
! L]
| Which language was wied i Adhotas ascnpis”

3 Where u Kalimgs doaned”
RALL LT ULL L
SLCTION § Qedey;

S R O e

Map based quertione
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Geography map:




